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ERHBDDDS

#iefine E1 3 /4 motor 1 spesd
ol ine N1 0 7 morae 1 A4
& B2 6/ moto
fdefine M2 11 /) motor Z direction
Fefine [IPIE 13

Hafine [IPINI &

#eof ine TED 2

boolean check = false

woid setup(H
odedil, OUTFUTY;
+(El, OITPIT);

ode{INPIN , IHTUT);
L(INPIND |, THRITY;
g {9600}
vte(Ml . HIGH):
ritedZ , HIGH);

woid Toap( 3

it senzor¥alue = digrtalRead (1HPIND;

if{sensorfaloe = LOW)(
P chock == false){
amloghrite(Bl, 255);
analog¥ritedBZ, 233):

EDDHE)

B06501068 ME=
B06501080 RIHE
B06501092 EJhz&
B06501002 #1hz#

digitalWlrite{ 2 , HIGH ) ;
digitalfcite{ M1 , HIGH) ;
digitaliirite{ M2 , HIGH) ;
delay(22007;
digitalWrite{ 2 , LOW ) ;
analozlirite(El, 0);
analoglirite (B2, 0);
check = tme ;
}
elsef
analoglrite(El, 255);
analoglirite (B2, 235);
digitalfrite M1 , LOWY ;
digitalilrite{ M2 , LOWY ;
delay(2200};
analoglirite(El, 0);
analoglirite (B2, 0);
check = false ;
}

)

elsef
int sensorValnel = analogRead (A07;

Serial .printlndsensorValuel);

if (sensorValuel = 100 &% check == false){

digitallirite( 2 , HIGH ) ;
analoglrite(El, 255);
analoglivite(B2, 25373;

digitallirite( M1, HIGH) ;
digitalWritel M2 , HIGH) ;
delay(22003;

digitallivite( 2, LOW ) ;
analoghrite(El, 0);
analoghrite(E2, 0);

check = true ;

}

else if (sensorValnel < 10 &% check == trne}{
analogirite(El, 235);
analoglrite(EZ, 255);
digitalWrited M1 , LOUY ;
digitallivite M2, LOWY 5
de Lay(2200);
analoghrite(El, 0);
analoghrite(E2, 0);

check = false ;
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